
Part Number Description

500TH‐G 500 Series Tooth ‐ Green (Standard Dish)

500TH‐R 500 Series Tooth ‐ Red (Deep Dish)

700‐WS 700 Series Wearsharp® Tooth

700TH‐G 700 Series Tooth ‐ Green (Standard Dish)

700TH‐R 700 Series Tooth ‐ Red (Deep Dish)

926‐WS 900 Series Wearsharp® Tooth, for wheels up to 22"

926‐WS2 900 Series Wearsharp® 2‐sided Tooth, for wheels up to 22", Used 

with Quadwheel®

900‐WS 900 Series Wearsharp® Tooth, for wheels 23" & larger

900‐WS2 900 Series Wearsharp® 2‐sided Tooth, for wheels 23" & larger

900TH‐G 900 Series Tooth ‐ Green (Standard Dish)

900TH‐R 900 Series Tooth ‐ Red (Deep Dish)

1100‐WS 1100 Series Wearsharp® Tooth

1100‐G 1100 Series Tooth ‐ Green (Standard Dish)

1100‐R 1100 Series Tooth ‐ Red (Deep Dish)

NOTES:

PARTS ORDER FORM:                  
PLEASE FILL OUT FORM AND SEND TO - 

operations@summitmachinesupply.com 

PART ALSO AVAILABLE AT ONLINE STORE!!!                                                                                                        

WWW.SUMMITMACHINESUPPLY.COM

MACHINE MAKE AND MODEL

COMPANY NAME BILLING ADDRESS:

SHIP TO ADDRESS:

CONTACT INFORMATION PRIMARY INDUSTRY 

500 Series

REQUIRED DELIVERY DATE

Teeth 

QUANTITY NEEDED

700 Series

900 Series

1100 Series

*All Greenteeth® kits contain nuts, and spacers when used on LoPro® pockets. Note that when used on the Quadwheel®, spacers are not needed.



Part Number Description

500LP‐A 500 Series LoPro® Pocket ‐ Angle

500LP‐S 500 Series LoPro® Pocket ‐ Straight

700LP‐A 700 Series LoPro® Pocket ‐ Angle

700LP‐S 700 Series LoPro® Pocket ‐ Straight

700LP‐R 700 Series LoPro® Pocket ‐ Reverse

900LP‐A 900 Series LoPro® Pocket ‐ Angle

900LP‐S 900 Series LoPro® Pocket ‐ Straight

900LP‐R 900 Series LoPro® Pocket ‐ Reverse

1100‐CB 1100 Series Counterbore Pocket ‐ Angle

1100‐CBS 1100 Series Counterbore Pocket ‐ Straight

1100‐CBR 1100 Series Counterbore Pocket ‐ Reverse

1100‐TH 1100 Series Threaded Pocket ‐ Angle

1100‐THS 1100 Series Threaded Pocket ‐ Straight

1100‐THR 1100 Series Threaded Pocket ‐ Reverse

1100‐3CB 1100 Series 3‐Hole Counterbore Pocket ‐ Angle

1100‐3CBS 1100 Series 3‐Hole Counterbore Pocket ‐ Straight

1100‐3CBR 1100 Series 3‐Hole Counterbore Pocket ‐ Reverse

1100‐3TH 1100 Series 3‐Hole Threaded Pocket ‐ Angle

1100‐3THS 1100 Series 3‐Hole Threaded Pocket ‐ Straight

1100‐3THR 1100 Series 3‐Hole Threaded Pocket ‐ Reverse

Part Number Description

GB‐134 Greenbolt®, 1‐3/4"

GB‐200 Greenbolt®, 2"

GB‐214 Greenbolt®, 2‐1/4"

GB‐212 Greenbolt®, 2‐1/2"

GB‐234 Greenbolt®, 2‐3/4"

GB‐300 Greenbolt®, 3"

CS‐134 Cap Screw, 1‐3/4"

CS‐200 Cap Screw, 2"

CS‐214 Cap Screw, 2‐1/4"

CS‐212 Cap Screw, 2‐1/2"

CS‐234 Cap Screw, 2‐3/4"

CS‐300 Cap Screw, 3"

LP‐134 LoPro® Bolt, 1‐3/4"

LP‐200 LoPro® Bolt, 2"

LP‐214 LoPro® Bolt, 2‐1/4"

LP‐212 LoPro® Bolt, 2‐1/2"

LP‐234 LoPro® Bolt, 2‐3/4"

LP‐300 LoPro® Bolt, 3"  (also used with GW‐BLOCK)

QUANTITY NEEDED REQUIRED DELIVERY DATE

Greenbolts® (for 1100 Series Pockets only)

Capscrews (for 1100 Series Pockets only)

LoPro® Bolts (for LoPro® Pockets only)

BOLTS

POCKETS

QUANTITY NEEDED REQUIRED DELIVERY DATE

500 Series

700 Series

900 Series

1100 Series

1100 Series ‐ 3 Hole



1100‐NUT 1100 Series Nut

900‐NUT 900 Series Nut

900‐SPACER 900 Series Spacer

700‐NUT 700 Series Nut

700‐SPACER 700 Series Spacer

500‐NUT 500 Series Nut

500‐SPACER 500 Series Spacer

GS‐8 Green‐Seize™   (Anti‐Seize), 8 OZ

ALLENWRENCH‐SOCKET 1/2" Allen Wrench Socket for LoPro® Bolts

SOCKET 1/2" Drive, 5/8" Impact Socket for Greenbolt®

DIA‐425 1/4" Diamond Wheel

GW‐HOLDER Tooth Holder for Quadwheel®

GW‐BLOCK Mounting Block for Quadwheel®

RAYCO‐SHEAVE Sheave used in Rayco Performance Upgrade

RACYO‐BELT Belt used in Rayco Performance Upgrade

RAYCO‐GUARD Extended Guard used in Rayco Performance Upgrade

SP‐125 1/8" Spacer for 900 Series Pockets

SP‐250 1/4" Spacer for 900 Series Pockets

1100‐SP125 1/8" Spacer for 1100 Series Pockets

1100‐SP250 1/4" Spacer for 1100 Series Pockets

Part Number Description

QW‐2000 SETUP Quadwheel®   Kit, Bandit 2000

QW‐2100 SETUP Quadwheel®   Kit, Bandit 2100

QW‐2150XP SETUP Quadwheel®   Kit, Bandit 2150XP

QW‐2450XP SETUP Quadwheel®   Kit, Bandit 2450XP

QW‐2300 SETUP Quadwheel®   Kit, Carlton 2300

QW‐2400‐4 SETUP Quadwheel®   Kit, Carlton 2400‐4

QW‐2500 SETUP Quadwheel®   Kit, Carlton 2500

QW‐2700‐4 SETUP Quadwheel®   Kit, Carlton 2700‐4

QW‐SP4012 SETUP Quadwheel®   Kit, Carlton SP4012

QW‐SP5014 SETUP Quadwheel®   Kit, Carlton SP5014

QW‐1620 SETUP* Quadwheel®   Kit, Rayco 1620 JR

QW‐RG27 SP JR SETUP*^ Quadwheel®   Kit, Rayco RG27 Super Jr

QW‐RG35 SP JR SETUP*^ Quadwheel®   Kit, Rayco RG35 Super Jr

QW‐1625 SP JR SETUP* Quadwheel®   Kit, Rayco 1625 Super Jr

QW‐1631 SP JR SETUP* Quadwheel®   Kit, Rayco 1631 Super Jr

QW‐1635 SP JR SETUP* Quadwheel®   Kit, Rayco 1635 Super Jr

QW‐206 SETUP Quadwheel®   Kit, Vermeer 206

QW‐222 SETUP Quadwheel®   Kit, Vermeer 222

QW‐252 SETUP Quadwheel®   Kit, Vermeer 252

QW‐G42 SETUP Quadwheel®   Kit, Morkbark G42

QW‐MAX SETUP Quadwheel®   Kit, Max

QW‐SS SETUP Quadwheel®   Kit, Stump Slayer

QW‐38S SETUP Quadwheel®   Kit, Top Notch 38 Special

Vermeer Machines

Morkbark

Rayco Machines

Carlton Machines

Misc. Manufacturers

MISCELLANIOUS

QUANTITY NEEDED REQUIRED DELIVERY DATE

QUANTITY NEEDED REQUIRED DELIVERY DATE

Quadwheel®

Quadwheel®   Kits include: (1) Quadwheel®  , (12) 926‐WS2, (4) GW‐BLOCK, (4) GW‐HOLDER, (8) LP‐300, (1) ALLENWRENCH‐SOCKET &

mounting hardware specific to make & model.

*If customers jackshaft v‐belt sheave is greater than 11 inches in diameter, the kit will include a free upgrade of a 

^Please notify customer that slight filing to their belt guard will be required to fit the Quadwheel® to their 

Bandit Machines



Part Number Description

RS‐50TX Setup Reverse‐S™   Kit, Vermeer 50TX

RS‐60TX Setup Reverse‐S™   Kit, Vermeer 60TX

RS‐70TX Setup Reverse‐S™   Kit, Vermeer 70TX

RS‐502 Setup Reverse‐S™   Kit, Vermeer 502

RS‐505 Setup Reverse‐S™   Kit, Vermeer 505

RS‐602 Setup Reverse‐S™   Kit, Vermeer 602

RS‐652 Setup Reverse‐S™   Kit, Vermeer 652

RS‐852 Setup Reverse‐S™   Kit, Vermeer 852

RS‐1152 Setup Reverse‐S™   Kit, Vermeer 1152

RS‐3500 (Welded Shaft) Setup Reverse‐S™   Kit, Carlton 3500, Welded Shaft

RS‐3500 (Straight Shaft) Setup Reverse‐S™   Kit, Carlton 3500, Straight Shaft

RS‐4400 (Welded Shaft) Setup Reverse‐S™   Kit, Carlton 4400, Welded Shaft

RS‐4400 (Straight Shaft) Setup Reverse‐S™   Kit, Carlton 4400, Straight Shaft

RS‐7015 (Welded Shaft) Setup Reverse‐S™   Kit, Carlton 7015 Welded Shaft

RS‐7015 (Straight Shaft) Setup Reverse‐S™   Kit, Carlton 7015 Straight Shaft

RS‐Rayco Super RG 50 Setup Reverse‐S™   Kit, Rayco Super RG 50

Part Number Description

RAYCO UPGRADE KIT ‐ 6 Pocket Performance Upgrade Kit for Rayco Jrs & Super Jrs ‐ 6 

Pocket

RAYCO UPGRADE KIT ‐ 12 Pocket Performance Upgrade Kit for Rayco Jrs & Super Jrs ‐ 12 

Pocket

VERMEER UPGRADE KIT Performance Upgrade Kit for Vermeer SC 252, SC 292 & SC 

362

VERMEER SC 30TX UPGRADE WHEEL Vermeer SC 30TX Upgrade Wheel

VERMEER SC 40TX UPGRADE WHEEL Vermeer SC 40TX Upgrade Wheel

REQUIRED DELIVERY DATE

Reverse‐S™   Kit includes: (1) Reverse‐S™  wheel, (30) 900‐WS2, (24) 900LP‐A (4) 900LP‐S, (2) 900LP‐R, (12) LP‐212, (6) LP‐234, (12) LP‐300, (1)

ALLENWRENCH‐SOCKET, & mounting hardware specific to make & model

Reverse‐S™ Cutting System

PERFORMANCE UPGRADE KITS

QUANTITY NEEDED REQUIRED DELIVERY DATE

The kit includes (6) 900LP‐A, (6) LP‐200, (6) 926‐WS2, (1) ALLENWRENCH‐SOCKET & assembly diagram that 

The kit includes (1) W‐1645556, (8) 900LP‐A, (8) 926‐WS2, (8) LP‐200, (1) ALLENWRENCH‐SOCKET & assembly 

The kit includes (1) W‐1832556, (16) 700LP‐A, (16) 700‐WS, (16) LP‐200, (1) ALLENWRENCH‐SOCKET & 

QUANTITY NEEDED

The 6‐pocket Upgrade Kit is compatible only with 1/2" & 1" wheels WITHOUT counterbalancing holes

The kit includes a v‐belt and sheave to increase RPM, larger chip containment guard, (6) 900LP‐A, (6) 

The 12‐pocket Upgrade Kit is compatible only with 1/2" & 1" wheels WITH counterbalancing holes

The kit includes a v‐belt and sheave to increase RPM, larger chip containment guard, (12) 900LP‐A, (6) LP‐BLOCK,  


